I N S T I T U T D E F R A N C E Académie des sciences

## Comptes Rendus

## Mathématique

## Hüseyin Bor

## A new note on factored infinite series and trigonometric Fourier series

Volume 359, issue 3 (2021), p. 323-328.
[https://doi.org/10.5802/crmath.179](https://doi.org/10.5802/crmath.179)
© Académie des sciences, Paris and the authors, 2021.
Some rights reserved.
๔的 $\longrightarrow$ This article is licensed under the
Creative Commons Attribution 4.0 International License.
http://creativecommons.org/licenses/by/4.0/

Les Comptes Rendus. Mathématique sont membres du
Centre Mersenne pour l'édition scientifique ouverte www.centre-mersenne.org

# A new note on factored infinite series and trigonometric Fourier series 

Hüseyin Bor ${ }^{a}$

${ }^{a}$ P. O. Box 121, TR-06502 Bahçelievler, Ankara, Turkey<br>E-mail: hbor33@gmail.com


#### Abstract

In this paper, we have proved two main theorems under more weaker conditions dealing with absolute weighted arithmetic mean summability factors of infinite series and trigonometric Fourier series. We have also obtained certain new results on the different absolute summability methods.


2020 Mathematics Subject Classification. 26D15, 40D15, 42A24, 46A45.
Manuscript received 14th November 2020, accepted 13th January 2021.

## 1. Introduction

Let $\sum a_{n}$ be a given infinite series with the partial sums $\left(s_{n}\right)$. By $t_{n}^{\alpha}$ we denote the $n$th Cesàro mean of order $\alpha$, with $\alpha>-1$, of the sequence ( $n a_{n}$ ), that is (see [21])

$$
\begin{equation*}
t_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=0}^{n} A_{n-\nu}^{\alpha-1} v a_{\nu},\left(t_{n}{ }^{1}=t_{n}\right) \tag{1}
\end{equation*}
$$

where

$$
\begin{equation*}
A_{n}^{\alpha}=\frac{(\alpha+1)(\alpha+2) \ldots(\alpha+n)}{n!}=O\left(n^{\alpha}\right), \quad A_{-n}^{\alpha}=0 \quad \text { for } \quad n>0 . \tag{2}
\end{equation*}
$$

The series $\sum a_{n}$ is said to be summable $|C, \alpha|_{k}, k \geq 1$, if (see [23])

$$
\begin{equation*}
\sum_{n=1}^{\infty} \frac{1}{n}\left|t_{n}^{\alpha}\right|^{k}<\infty \tag{3}
\end{equation*}
$$

If we take $\alpha=1$, then $|C, \alpha|_{k}$ summability reduces to $|C, 1|_{k}$ summability. Let ( $p_{n}$ ) be a sequence of positive real numbers such that

$$
\begin{equation*}
P_{n}=\sum_{v=0}^{n} p_{v} \rightarrow \infty \quad \text { as } \quad n \rightarrow \infty, \quad\left(P_{-i}=p_{-i}=0, \quad i \geq 1\right) . \tag{4}
\end{equation*}
$$

The sequence-to-sequence transformation $\left(s_{n}\right) \rightarrow\left(v_{n}\right)$ with

$$
\begin{equation*}
v_{n}=\frac{1}{P_{n}} \sum_{v=0}^{n} p_{\nu} s_{v} \tag{5}
\end{equation*}
$$

defines the sequence ( $v_{n}$ ) of weighted arithmetic mean or simply the ( $\bar{N}, p_{n}$ ) mean of the sequence $\left(s_{n}\right)$, generated by the sequence of coefficients $\left(p_{n}\right)$ (see [24]). If we write $X_{n}=\sum_{v=0}^{n} \frac{p_{v}}{P_{p}}$, then $\left(X_{n}\right)$ is a positive increasing sequence tending to infinity as $n \rightarrow \infty$. The series $\sum a_{n}$ is said to be summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$, if (see [3])

$$
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|v_{n}-v_{n-1}\right|^{k}<\infty .
$$

In the special case when $p_{n}=1$ for all $n$ (resp. $k=1$ ), $\left|\bar{N}, p_{n}\right|_{k}$ summability is the same as $|C, 1|_{k}$ (resp. $\left|\bar{N}, p_{n}\right|$ (see [35]) summability. Also if we take $p_{n}=\frac{1}{n+1}$ and $k=1$, then we obtain $|R, \log n, 1|$ summability (see [1]).

For any sequence $\left(\lambda_{n}\right)$ we write that $\Delta^{2} \lambda_{n}=\Delta \lambda_{n}-\Delta \lambda_{n+1}$ and $\Delta \lambda_{n}=\lambda_{n}-\lambda_{n+1}$. The sequence $\left(\lambda_{n}\right)$ is said to be of bounded variation, denoted by $\left(\lambda_{n}\right) \in \mathscr{B} V$, if $\sum_{n=1}^{\infty}\left|\Delta \lambda_{n}\right|<\infty$.

## 2. The known result

Many works dealing with the absolute summability factors of infinite series and Fourier series have been done (see [2,4-20,25-34,36-40]). Among them, in [12], the following theorem has been proved.
Theorem 1. Let $\left(X_{n}\right)$ be a positive increasing sequence and let $\left(p_{n}\right)$ be a sequence of positive numbers such that

$$
\begin{equation*}
P_{n}=O\left(n p_{n}\right) \quad \text { as } \quad n \rightarrow \infty . \tag{6}
\end{equation*}
$$

If the conditions

$$
\begin{gather*}
\lambda_{m}=o(1) \quad \text { as } \quad m \rightarrow \infty  \tag{7}\\
\sum_{n=1}^{m} n X_{n}\left|\Delta^{2} \lambda_{n}\right|=O(1) \quad \text { as } \quad m \rightarrow \infty  \tag{8}\\
\sum_{n=1}^{m} \frac{p_{n}}{P_{n}} \frac{\left|t_{n}\right|^{k}}{X_{n}^{k-1}}=O\left(X_{m}\right) \quad \text { as } \quad m \rightarrow \infty \tag{9}
\end{gather*}
$$

hold, then the series $\sum a_{n} \lambda_{n}$ is summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$.
Remark. It should be noted that, in Theorem 1, there is a restriction on the sequence ( $p_{n}$ ). Therefore, due to restriction (6) on ( $p_{n}$ ) no result for $p_{n}=\frac{1}{n+1}$ can be deduced from Theorem 1 .

## 3. The main result

The aim of this paper is to obtain a further generalization of Theorem 1 under weaker conditions. In this case, there is not any restriction on the sequence ( $p_{n}$ ). It is clear that (6) and (9) imply the following formula

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{\left|t_{n}\right|^{k}}{n X_{n}{ }^{k-1}}=O\left(X_{m}\right) \quad \text { as } \quad m \rightarrow \infty . \tag{10}
\end{equation*}
$$

Also(6) implies that

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{P_{n}}{n}=O\left(P_{m}\right) \quad \text { as } \quad m \rightarrow \infty \tag{11}
\end{equation*}
$$

It should be remarked that (6) implies (11) but the converse needs not be true (see [27]).
Now we shall prove the following general theorem.
Theorem 2. If the sequences $\left(X_{n}\right),\left(\lambda_{n}\right)$, and ( $p_{n}$ ) satisfy the conditions (7)-(11), then the series $\sum a_{n} \lambda_{n}$ is summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$.

We need the following lemma for the proof of Theorem 2.
Lemma 3 (cf. [6]). Under the conditions of Theorem 2, we get

$$
\begin{gather*}
n X_{n}\left|\Delta \lambda_{n}\right|=O(1), \quad \text { as } \quad n \rightarrow \infty  \tag{12}\\
\sum_{n=1}^{\infty} X_{n}\left|\Delta \lambda_{n}\right|<\infty  \tag{13}\\
X_{n}\left|\lambda_{n}\right|=O(1) \quad \text { as } \quad n \rightarrow \infty \tag{14}
\end{gather*}
$$

## 4. Proof of Theorem 2

Let $\left(T_{n}\right)$ be the sequence of $\left(\bar{N}, p_{n}\right)$ mean of the series $\sum a_{n} \lambda_{n}$. Then, by definition, we have

$$
\begin{equation*}
T_{n}=\frac{1}{P_{n}} \sum_{\nu=0}^{n} p_{v} \sum_{r=0}^{\nu} a_{r} \lambda_{r}=\frac{1}{P_{n}} \sum_{\nu=0}^{n}\left(P_{n}-P_{\nu-1}\right) a_{\nu} \lambda_{v} \tag{15}
\end{equation*}
$$

Then, for $n \geq 1$, we get

$$
\begin{equation*}
T_{n}-T_{n-1}=\frac{p_{n}}{P_{n} P_{n-1}} \sum_{\nu=1}^{n} \frac{P_{v-1} \lambda_{v}}{v} v a_{v} \tag{16}
\end{equation*}
$$

Applying Abel's transformation to the right-hand side of (16), we have

$$
\begin{aligned}
T_{n}-T_{n-1}= & \frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} \Delta\left(\frac{P_{v-1} \lambda_{v}}{v}\right) \sum_{r=1}^{v} r a_{r}+\frac{p_{n} \lambda_{n}}{n P_{n}} \sum_{v=1}^{n} v a_{v} \\
= & \frac{(n+1) p_{n} t_{n} \lambda_{n}}{n P_{n}}-\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} p_{v} t_{v} \lambda_{\nu} \frac{v+1}{v} \\
& \quad+\frac{p_{n}}{P_{n} P_{n-1}} \sum_{\nu=1}^{n-1} P_{v} \Delta \lambda_{\nu} t_{v} \frac{v+1}{v}+\frac{p_{n}}{P_{n} P_{n-1}} \sum_{v=1}^{n-1} P_{\nu} \lambda_{v+1} t_{v} \frac{1}{v} \\
= & T_{n, 1}+T_{n, 2}+T_{n, 3}+T_{n, 4} .
\end{aligned}
$$

To complete the proof of Theorem 2, by Minkowski's inequality, it is sufficient to show that

$$
\sum_{n=1}^{\infty}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|T_{n, r}\right|^{k}<\infty, \quad \text { for } \quad r=1,2,3,4
$$

Firstly, we have that

$$
\begin{aligned}
\sum_{n=1}^{m}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|T_{n, 1}\right|^{k} & =O(1) \sum_{n=1}^{m}\left|\lambda_{n}\right|^{k-1}\left|\lambda_{n}\right| \frac{p_{n}}{P_{n}}\left|t_{n}\right|^{k}=O(1) \sum_{n=1}^{m}\left|\lambda_{n}\right| \frac{p_{n}}{P_{n}} \frac{\left|t_{n}\right|^{k}}{X_{n}^{k-1}} \\
& =O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{\nu=1}^{n} \frac{p_{v}}{P_{\nu}} \frac{\left|t_{\nu}\right|^{k}}{X_{\nu}^{k-1}}+O(1)\left|\lambda_{m}\right| \sum_{n=1}^{m} \frac{p_{n}}{P_{n}} \frac{\left|t_{n}\right|^{k}}{X_{n}^{k-1}} \\
& =O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n}+O(1)\left|\lambda_{m}\right| X_{m}=O(1) \quad \text { as } \quad m \rightarrow \infty
\end{aligned}
$$

by the hypotheses of Theorem 2 and Lemma 3. Also, as in $T_{n, 1}$, we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|T_{n, 2}\right|^{k} & =O(1) \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}}\left(\sum_{\nu=1}^{n-1} p_{\nu}\left|t_{\nu}\right|^{k}\left|\lambda_{\nu}\right|^{k}\right) \times\left(\frac{1}{P_{n-1}} \sum_{\nu=1}^{n-1} p_{\nu}\right)^{k-1} \\
& =O(1) \sum_{\nu=1}^{m}\left|\lambda_{\nu}\right|^{k-1}\left|\lambda_{\nu}\right|_{\nu}\left|t_{\nu}\right|^{k} \sum_{n=\nu+1}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}} \\
& =O(1) \sum_{\nu=1}^{m}\left|\lambda_{\nu}\right| \frac{p_{v}}{P_{\nu}} \frac{\left|t_{\nu}\right|^{k}}{X_{\nu}^{k-1}}=O(1) \quad \text { as } \quad m \rightarrow \infty
\end{aligned}
$$

Again, by using (11), we obtain that

$$
\begin{aligned}
& \sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|T_{n, 3}\right|^{k}=O(1) \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}^{k}}\left\{\sum_{\nu=1}^{n-1} P_{\nu}\left|\Delta \lambda_{\nu}\right|\left|t_{\nu}\right|\right\}^{k} \\
& =O(1) \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}^{k}}\left(\sum_{v=1}^{n-1} \frac{P_{v}}{v} \nu\left|\Delta \lambda_{\nu} \| t_{v}\right|\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}}\left(\sum_{\nu=1}^{n-1} \frac{P_{\nu}}{v}\left(\nu\left|\Delta \lambda_{\nu}\right|\right)^{k}\left|t_{\nu}\right|^{k}\right) \times\left(\frac{1}{P_{n-1}} \sum_{v=1}^{n-1} \frac{P_{\nu}}{v}\right)^{k-1} \\
& =O(1) \sum_{\nu=1}^{m} \frac{P_{v}}{v}\left(\nu\left|\Delta \lambda_{\nu}\right|\right)^{k-1} \nu\left|\Delta \lambda_{\nu} \|\left|t_{\nu}\right|^{k} \sum_{n=\nu+1}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}}\right. \\
& =O(1) \sum_{v=1}^{m} \nu\left|\Delta \lambda_{\nu}\right| \frac{\left|t_{v}\right|^{k}}{v X_{\nu}{ }^{k-1}} \\
& =O(1) \sum_{v=1}^{m-1} \Delta\left(\nu\left|\Delta \lambda_{\nu}\right|\right) \sum_{r=1}^{\nu} \frac{\left|t_{r}\right|^{k}}{r X_{r}{ }^{k-1}}+O(1) m\left|\Delta \lambda_{m}\right| \sum_{v=1}^{m} \frac{\left|t_{\nu}\right|^{k}}{v X_{\nu}{ }^{k-1}} \\
& =O(1) \sum_{v=1}^{m-1}\left|\Delta\left(\nu\left|\Delta \lambda_{\nu}\right|\right)\right| X_{v}+O(1) m\left|\Delta \lambda_{m}\right| X_{m} \\
& =O(1) \sum_{v=1}^{m-1} v X_{\nu}\left|\Delta^{2} \lambda_{\nu}\right|+O(1) \sum_{v=1}^{m-1} X_{\nu}\left|\Delta \lambda_{\nu}\right|+O(1) m\left|\Delta \lambda_{m}\right| X_{m} \\
& =O(1) \text { as } m \rightarrow \infty \text {, }
\end{aligned}
$$

by the hypotheses of Theorem 2 and Lemma 3. Finally by using (11), as in $T_{n, 1}$, we have that

$$
\begin{aligned}
\sum_{n=2}^{m+1}\left(\frac{P_{n}}{p_{n}}\right)^{k-1}\left|T_{n, 4}\right|^{k} & \leq \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}^{k}}\left(\sum_{v=1}^{n-1} \frac{P_{v}}{v}\left|\lambda_{v+1}\right|\left|t_{v}\right|\right)^{k} \\
& =O(1) \sum_{n=2}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}}\left(\sum_{v=1}^{n-1} \frac{P_{v}}{v}\left|\lambda_{v+1}\right|^{k}\left|t_{\nu}\right|^{k}\right) \times\left(\frac{1}{P_{n-1}} \sum_{v=1}^{n-1} \frac{P_{v}}{v}\right)^{k-1} \\
& =O(1) \sum_{v=1}^{m} \frac{P_{v}}{v}\left|\lambda_{v+1}\right|^{k-1}\left|\lambda_{v+1}\right|\left|t_{v}\right|^{k} \sum_{n=v+1}^{m+1} \frac{p_{n}}{P_{n} P_{n-1}} \\
& =O(1) \sum_{v=1}^{m}\left|\lambda_{v+1}\right| \frac{\left|t_{v}\right|^{k}}{v X_{v}}=O(1) \text { as } m \rightarrow \infty .
\end{aligned}
$$

This completes the proof of Theorem 2.
If we take $p_{n}=1$ for all $n$, then we obtain a new result dealing with $|C, 1|_{k}$ summability factors of infinite series. Also if we set $k=1$, then we obtain a new result concerning the $\left|\bar{N}, p_{n}\right|$ summability factors of infinite series. Finally, if we take $p_{n}=\frac{1}{n+1}$ and $k=1$, then we obtain a new result for $|R, \log n, 1|$ summability of factored infinite series.

## 5. An application to trigonometric Fourier series

Let $f$ be a periodic function with period $2 \pi$ and Lebesgue integrable over $(-\pi, \pi)$. The trigonometric Fourier series of $f$ is defined as

$$
f(x) \sim \frac{1}{2} a_{0}+\sum_{n=1}^{\infty}\left(a_{n} \cos n x+b_{n} \sin n x\right)=\sum_{n=0}^{\infty} A_{n}(x),
$$

where

$$
a_{0}=\frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \mathrm{d} x, \quad a_{n}=\frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos (n x) \mathrm{d} x, \quad \text { and } \quad b_{n}=\frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin (n x) \mathrm{d} x .
$$

Write $\phi(t)=\frac{1}{2}\{f(x+t)+f(x-t)\}$, and $\phi_{\alpha}(t)=\frac{\alpha}{t^{\alpha}} \int_{0}^{t}(t-u)^{\alpha-1} \phi(u) \mathrm{d} u,(\alpha>0)$.
It is known that if $\phi_{1}(t) \in \mathscr{B} V(0, \pi)$, then $t_{n}(x)=O(1)$, where $t_{n}(x)$ is the $(C, 1)$ mean of the sequence $\left(n A_{n}(x)\right)$ (see [22]). Using this fact, we have obtained the following theorem dealing with trigonometric Fourier series.

Theorem 4 (cf. [12]). If $\phi_{1}(t) \in \mathscr{B V}(0, \pi)$, and the sequences $\left(p_{n}\right)$, ( $\lambda_{n}$ ) and $\left(X_{n}\right)$ satisfy the conditions of the Theorem 1 , then the series $\sum A_{n}(x) \lambda_{n}$ is summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$.

Now, we can generalize Theorem 4 under weaker conditions in the following form.
Theorem 5. If $\phi_{1}(t) \in \mathscr{B V}(0, \pi)$, and the sequences $\left(p_{n}\right),\left(\lambda_{n}\right)$, and $\left(X_{n}\right)$ satisfy the conditions of Theorem 2, then the series $\sum A_{n}(x) \lambda_{n}$ is summable $\left|\bar{N}, p_{n}\right|_{k}, k \geq 1$.

In the special cases of $\left(p_{n}\right)$ and $k$ as in Theorem 2, we can obtain similar results from Theorem 5 for the trigonometric Fourier series.

## References

[1] S. N. Bhatt, "An aspect of local property of $|R, \log n, 1|$ summability of Fourier series", Tôhoku Math. J. 11 (1959), p. 13-19.
[2] H. Bor, "On $\left|\bar{N}, p_{n}\right|_{k}$ summability factors", Proc. Am. Math. Soc. 94 (1985), p. 419-422.
[3] _, "On two summability methods", Math. Proc. Camb. Philos. Soc. 97 (1985), p. 147-149.
[4] ——, "On quasi-monotone sequences and their applications", Bull. Aust. Math. Soc. 43 (1991), no. 2, p. 187-192.
[5] -, "On absolute weighted mean summability methods", Bull. Lond. Math. Soc. 25 (1993), no. 3, p. 265-268.
[6] -, "On the absolute Riesz summability factors", Rocky Mt. J. Math. 24 (1994), no. 4, p. 1263-1271.
[7] ——, "On the local property of factored Fourier series", Z. Anal. Anwend. 16 (1997), no. 3, p. 769-773.
[8] _ , "A study on local properties of Fourier series", Nonlinear Anal., Theory Methods Appl. 57 (2004), no. 2, p. 191197.
[9] _ "A note on local property of factored Fourier series", Nonlinear Anal., Theory Methods Appl. 64 (2006), no. 3, p. 513-517.
[10] , "Some new results on infinite series and Fourier series", Positivity 19 (2015), no. 3, p. 467-473.
[11] _, "On absolute weighted mean summability of infinite series and Fourier series", Filomat 30 (2016), no. 10, p. 2803-2807.
[12] —— "Some new results on absolute Riesz summability of infinite series and Fourier series", Positivity 20 (2016), no. 3, p. 599-605.
[13] , "Absolute weighted arithmetic mean summability factors of infinite series and trigonometric Fourier series", Filomat 31 (2017), no. 15, p. 4963-4968.
[14] , "An application of power increasing sequences to infinite series and Fourier series", Filomat 31 (2017), no. 6, p. 1543-1547.
[15] ——, "An application of quasi-monotone sequences to infinite series and Fourier series", Anal. Math. Phys. 8 (2018), no. 1, p. 77-83.
[16] _, "On absolute summability of factored infinite series and trigonometric Fourier series", Results Math. 73 (2018), no. 3, article no. 116 (9 pages).
[17] _ , "On absolute Riesz summability factors of infinite series and their application to Fourier series", Georgian Math. J. 26 (2019), no. 3, p. 361-366.
[18] - "Certain new factor theorems for infinite series and trigonometric Fourier series", Quaest. Math. 43 (2020), no. 4, p. 441-448.
[19] H. Bor, B. Kuttner, "On the necessary conditions for absolute weighted arithmetic mean summability factors", Acta Math. Hung. 54 (1989), no. 1-5, p. 57-61.
[20] H. Bor, D. Yu, P. Zhou, "On local property of absolute summability of factored Fourier series", Filomat 28 (2014), no. 8, p. 1675-1686.
[21] E. Cesàro, "Sur la multiplication des séries", Bull. Sci. Math. 14 (1890), p. 114-120.
[22] K.-K. Chen, "Functions of bounded variation and the Cesàro means of Fourier series", Acad. Sinica Sci. Record 1 (1945), p. 283-289.
[23] T. M. Flett, "On an extension of absolute summability and some theorems of Littlewood and Paley", Proc. Lond. Math. Soc. 7 (1957), p. 113-141.
[24] G. H. Hardy, Divergent Series, Clarendon Press, 1949.
[25] J.-O. Lee, "On the summability of infinite series and Hüseyin Bor", J. Hist. Math. 30 (2017), p. 353-365, in Korean, English translation available at https://sites.google.com/site/hbor33/paper-of-prof-lee-english.
[26] L. Leindler, "A new application of quasi power increasing sequences", Publ. Math. 58 (2001), no. 4, p. 791-796.
[27] S. M. Mazhar, "Absolute summability factors of infinite series", Kyungpook Math. J. 39 (1999), no. 1, p. 67-73.
[28] H. S. Özarslan, "Local properties of generalized absolute matrix summability of factored Fourier series", Southeast Asian Bull. Math. 43 (2019), no. 2, p. 263-272.
[29] _, "A new factor theorem for absolute matrix summability", Quaest. Math. 42 (2019), no. 6, p. 803-809.
[30] -, "On the localization of factored Fourier series", J. Comput. Anal. Appl. 29 (2021), p. 344-354.
[31] H. S. Özarslan, Ş. Yıldız, "Local properties of absolute matrix summability of factored Fourier series", Filomat 31 (2017), no. 15, p. 4897-4903.
[32] M. A. Sarıgöl, "On local properties of summability of Fourier series", J. Comput. Anal. Appl. 12 (2010), no. 4, p. 817820.
[33] , "On the local properties of factored Fourier series", Appl. Math. Comput. 216 (2010), no. 11, p. 3386-3390.
[34] M. A. Sarıgöl, H. Bor, "Characterization of absolute summability factors", J. Math. Anal. Appl. 195 (1995), no. 2, p. 537545.
[35] G. Sunouchi, "Notes on Fourier analysis. XVIII. Absolute summability of series with constant terms", Tôhoku Math. J. 1 (1949), p. 57-65.
[36] Ş. Yıldız, "On application of matrix summability to Fourier series", Math. Methods Appl. Sci. 41 (2018), no. 2, p. 664670.
[37] , "On the absolute matrix summability factors of Fourier series", Math. Notes 103 (2018), no. 2, p. 297-303.
[38] , "On the generalizations of some factors theorems for infinite series and Fourier series", Filomat 33 (2019), no. 14, p. 4343-4351.
[39] , "Matrix application of power increasing sequences to infinite series and Fourier series", Ukr. Math. J. 72 (2020), no. 5, p. 730-740.
[40] , "A variation on absolute weighted mean summability factors of Fourier series and its conjugate series", Bol. Soc. Parana. Mat. 38 (2020), no. 5, p. 105-113.

